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CDS 2 2025 MATHEMATICS SAMPLE QUESTION PAPER

Time: 120 min.
INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned to that

M.M.100

question will be deducted. Each question contains (1) marks./ 757 &7 e77q9d% 9& | FAF Toid Sv & o7 SF 97 &
fore fEnia il 7 & va—1asTs (0.33) 3F BIC [ory G| H&ET HIT & 17 (1) 3 &

1.

A man decides to travel 80 kilometres in 8 hours
partly, by foot and partly on a bicycle. If his speed
on foot is 8 km/hr and on bicycle 16 km/hr., what

distance would he travel on foot?/Tds < feh 80
Rraafiex 1 gt 8 € 31 311 w7 & dea 3k
31T T & ATSfhe A T e BT AT o
o1 Ife sahr Ueer aifa 8 ferafi/ger 3R arsferer
<l 71Ty 16 Tepefl/areT &, al ae teel fehell g o
HIM?

(@) 20 km (b) 30 km

(c) 48 km (d) 60 km

PQRS is a parallelogram in which PQ is 11 cm, QR
is 13 cm, and PR is 16 cm. What is the difference

of the lengths of the diagonals?/PQRS Teh HTAR
g9t & Toreet PQ 11 G4, QR 13 T4 3R PR
16 Q3 &1 faepuit &Y SIaTS &1 3R FIT &?

(@ 1lcm (b) 2cm

(c)3cm (d)4cm

A field is in the shape of a rhombus, whose
perimeter is 292 m and one of its diagonals is 96 m.

What is the area of the field? Teh Halet HHAIHST
& 3THR A &, TG TRATT 292 FeX § 3%
ST Ueh TRl 96 HIeX & | HeTel & 81Thel T
&2

(a) 4800 m? (b) 7008 m?

(c) 5280 m? (d) 5040 m?

The adjacent angles of the rhombus are in the ratio
of 4: 5. Find the difference between the larger and

smaller angle. HHTIIHST & 3THe<T PIUT 4:5H
37earcl & §1 93 3R BIE 0T & el T 3R AT

ENIE g

(a) 10° (b) 20°

(c) 15° (d) 25°

ABCD is a rhombus with angle ABC = 52°. The
measure of ZACD is:/ABCD U HHIAJHS &

S aeRT PIoT ABC = 52° &1 2ACD &I AT &

(a) 48° (b) 54°

(c) 64° (d) 26°

PQRS is a rhombus. Each side of it is 40 cm. If PR
=64 cm and QS = (8x + 8) Then, the value of x is —

10.

PQRS Ueh HHTJHST & | SHhT UcAh T 40 T
T1 a7 PR = 64 T3 3 QS = (8x + 8) &, AT X T

TS -
(@) 6 (b) 5
(c)4 (d)7

Due to a 25% increase in the price of rice per
kilogram, a person is able to purchase 20 kilograms
less for Rupees 400. What is the increased price of

rice per kilogram? /9fa fRellanTat ararer &y Hrad
H 25% T gig &b BHROT, Teh G Teh 400 TUA H 20
freitamat & arae @lie urar &1 ufa featama

TeTel &l TEN TS hIaTel T &7
(@) Rs. 5 (b) Rs. 6
(c) Rs. 10 (d) Rs. 4

A shopkeeper buys three varieties of pulses at Rs
132, Rs 160 and Rs y per kg respectively and mixes
them in the ratio 9 : 2 : 1. The marked price per kg
of the blended pulses is fixed at Rs 238, the
shopkeeper gives a discount equal to

%of the marked price and still earns a profit of
40%. What is the value of y? /Teh gahTelgR diet
TR T aTel shatel: 2132, 2160 3R 230 ufd
fremAT Arex A WeaTe 3R 3% 9:2:1%
Ut A fAerar &1 f&fAT aralt @ 3ifha Hea
%238 Uil feRellanat €| gehTeteR 3ifohd a7 & 1/6
HTIT & ST P el & 3R T 31 40% 1 o1t

HATAT & T30 T AT FT &2

(@) 192 (b) 196

(c) 200 (d) 184

Find the difference between CI and SI on X 28,000,
at 20% per annum, compounded half-yearly for 1

year./Z 28,000 TR 20% Ufd a0 & eI & rdariiien
¥ 19y & forw @A Tehqlg <aret 3R

YR ST & & 37} AT DIy |

(a) 3300 (b) 3270

(c) 2280 (d) 3250

Daya is 5 times as old as his son. Six years hence
the sum of their ages will be 72 years. What is the
present age of Daya's son?
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11.

12.

13.

14.

&1 T Y 38D G &Y 3G &Y 5 A &1 6 a9
qTG; Sefeh 311 T AN9T 72 I B | ST &6 G hr

TAHATA 3T FAT &7
(a) 13 years (b) 10 years
(c) 8 years (d) 5 years

(x, y) is a pair of positive integers such that HCF
(X, y) + LCM (x,y) =187 and x > y.

(X, y) IATHD QUITehT T Teh JIA & fad HCF
(X, y) + LCM (X, y) = 187 JATx > y &

Which one of the following is correct in respect
of the Question and the Statements given below?
Statement 1: There are three possible values of

HCF (X, y)./ &Y 1: HCF (X, y) & /el IaTTad
A

Statement 2: The minimum value of (x +y) is 37./
HYA 2: (X +y) P =TT HATA 37 &

Statement 3: There are 7 pairs of (X, y) that satisfy
the given conditions./ U 3: (x, y) & 7 JIH & AT

&1 918 el A T R B

(a) Statements 1 and 3 are correct but Statement 2
is incorrect.

(b) Statement 1 is incorrect but Statements 2 and 3
are correct.

(c) Only Statements 1 and 2 are correct.

(d) All three statements are correct.

Find the positive square root of

92 — 24~/ 6 — 44/2./192 — 24~/ 6 — 4/2 T

UATcHD I AT DT
(a) 6 + 22 (b) 8 — 2v2
(c) 8 —4v2 d) 6 —2v2

35 men and 49 women, working together, can do a
job in 84 days while 48 men and 84 women,
working together, can do the same job in 56 days.
In how many days can the same job be done by 30

men and 21 women, working together?/35W3~ﬁT
49 AT Uk ATY AR U w1 84 feat #
Tehd & STelfeh 48 GV 31K 84 AT Teh Ty
fArerent 3 &1 Y 56 Tt 3 X Terdt &1 30
oY 3R 21 ATFATT Teh AT fHeleht ST ehrat Y

forda feat & o @opa &2
(a) 120 (b) 120>
(c) 120~ (d) 1202

A salt and water mixture, of which 12.5% is salt,
costs 22 per litre. Another salt and water mixture,
of which 27.5% is salt, costs X38.50 per litre. How
many litres of a salt and water mixture, of which
30% is salt, can be bought for *165?

15.

16.

17.

18.

19.

FHP 3R Tt & U TFA0T, ST 12.5% A
&, T DA 222 U oliex & | Th 37T 7B 3R
UTY o f3r810T, Toreet 27.5% 3 &, T Hrerd
%38.50 UfdY oileX 1 3165 & fohdal offeX a1 3R
Ot a1 T=0T, TS 30% T &, @lier o

HhdT &2
(a5 (b) 4.5
(c) 4 (d) 3.5

The average of five numbers is 87.8. The average
of the first two numbers is 81.5 and the average of
the last two numbers is 93.5. What is the third

number?/aTer AT &7 3T d 87.8 &1 Ugall T
a3t &1 3itaa 81.5 § 3R 3ifae &) T3t o
3iad 93.5 8| T TEIT AT R?
(a) 88 (b) 90
(c) 89 (d) 93
2 1
x = 7 + 73 + 73, then which one of the options
2 1
below is correct?/x = 7 + 73 + 73, dl ad f&u arw
fereut & & pla T gEr &2
(@) x3 + 21x% — 126x — 252 = 0.
(b) x3 + 21x? — 126x + 252 = 0.
(c) x3 — 21x% + 126x — 252 = 0.
(d) x3 — 21x% — 126x + 252 = 0.
In an election, Candidate M received 67% of the
votes, and Candidate N received 33% of the votes.

If the total votes were 10,000, find the difference in
the number of votes received by each candidate./

Teh YeATd H, 3FACdR M Bl 67% dle el 3R
SFHTGAR N I 33% e el | Ifg ot ale
10,000 &, A1 Uedeh 3FIGAR A Aol aret &

&I H R AT HITIT|
(a) 3500 (b) 3000
(c) 4200 (d) 3400

The Product of two whole numbers is 1083 and
their HCF is 19. Find the LCM./&Y quT T&aT3it r

IUTA%e 1083 & 3R 3t HCF 19 %1 LCM ST

GO

(@) 19 (b) 1083

(c) 38 (d) 57

The cost price of 28 articles is the same as the
selling price of x articles. If the profit is 40%, then

find the value of x./28 G311 &T 3ha Fed X
TEG3 & TIsha Ao &b FATA B AT W19 40% B,

ar X T AT AT HIfAT|
(@) 14
(c) 15

(b) 20
(d) 16
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20.

21.

22.

23.

24.

The average age of a group of 10 friends is 27
years. If one friend leaves the group, the average
becomes 25 years. Find the age of the friend who

left the group./10 GIEAT & Teh FH 1 3T 31
27 a¥ ¥\ Ife v fAT Tagg oz & &, ar 3itaa
1Y 25 TV & ST & | TG BIS dTel 131 1 31
A1d HIfaT|

(a) 45 years (b) 50 years

(c) 65 years (d) 55 years

If the numerator of a fraction is increased by 25%

and the denominator is decreased by 10%, the
value of the new fraction becomes 25/24. Find the

original fraction./afe fordlT Tt & 3721 3 25% hr
gfg &1 ST 3R & # 10% & el 1 1T, A T
et ol AT 25/24 & ST & | A Heet AT
S|

@) 2:3 (b) 4:3

(c) 3:2 (d) 3:4

Three circles of radius 5 cm each, touch each other.
If the points of contact are P, Q and R, then what is

the area of the triangle PQR in sq. cm?/5 @Y
s2m arel i gl Teh-g@R &l T & &1 TG
HU feig P, Q 31K R &, Al 3fsT PQR o1 &1thel

ot A FA FaT &2
(@) 223 HEE
OF=E (d) 25v3

On a large ground, there is a straight tall vertical
wall of length 28 m. A goat is tied to a point on the
ground which is at the middle of the wall, using a
rope. If the length of the rope is 21 m, what is the
area of the region (in sg. m) around the wall that

the goat can access?/Udh g3 Hal WX, 28 FeX oar
Teh T, e 3R @ §rar | Teh aehd) & T
8 &R & e ST W T foig & arer = ¢
e TEaY fir oars 21 e &, ar Slar & IRt 3R
3 &Y T 8Tl (F9T FeT ) T & STel Il

Ug e Hehcll &2
(a) 847 (b) 851
(c) 693 (d) 654

If x and y are two-digit prime numbers such that y
is obtained from x by interchanging its digits and x

-y = 36 then what is the value of xy?/afg x 3iR y
&Y 37epl aTell 37T TEATT &, TSTFA y, X &b 37
P T eTehT UTE fpaT ST & adTx -y = 36 &,

Xy T FTH T §?
(a) 1611 (b) 2701
(c) 4031 (d) 5603

25.

26.

27.

Suppose A, B and C are three taps fixed to the
bottom of a tank with draining capacity 1:2:3.
When all three of them are on, it takes 1 hour to
drain out the full tank. If A and C are on but B is
off, then how much time, in minutes, will it take to

empty out a full tank of water?/dT faT &6 A, B
3R C et et & S 1:2:3 % 31gurd A T
AT T 87T aTell Teh Sl &b el UR 19T &
ST il oFet Arel @l &, At gt Sy @l alet 3 1
el o9TaT & | Ife A 3R C arel &, afhd B aE &,
ar Ot & 3T T ShT T WTell el H fehdlell

Ty (Aaet o) eretem?
(a) 75 (b) 90
(c) 105 (d) 120

Kamla got married 6 years ago. Today her age is 1%
times her age at the time of marriage. Her son's age
is 1—10 times her present age. What is her son's age?

chaTell I ATET 6 AT Ut g5 AT | 31Tl SHI 3
AMET & AT Y 5 T 1 I[AT & 38d I T 3
3G aAATA 3H & 1/10 I[AT & | 38D I & 3H

T &2
(@) 2 years (b) 3 years
(c) 4 years (d) 5 years

The following blocks are of the same material.
Which is the heaviest one?/faFfaf@d <cifeh T

B UeTY & Il § | SAH A T W hied |12

T@T .
ANl

&
h -
«—6 cm—> «—6 cm—» ? '3 cm
(a) Cone (b) Cylinder
(c) Cuboid (d) All equal

28. A square is drawn inside the circle as shown in

the figure. If the area of the shaded portion is 32/7
units, then the radius of the circle is:

31T A EATT HTAR gl & 37 Teh o1 Gian
T & | i SR HTIT T &TT%hol 32/7 SIS
%»‘,a’fa[ﬂaﬁriécal T BN
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29.

30.

31.

32.

33.

(a) V2 units (b) 2 units
(c) 3 units (d) 4 units
B
F
E
2
A D c

“«c— 5 ——_—
In the figure given above BAC =90°, EA =2 and
AC = 6 What is the value of BE?/ZUX &1 7T

3Tpfa F BAC = 90°, EA=2 3R AC=6%IBE

T AT T §?
(@2 (b) 4
() 6 (d) 10

8 oranges cost as much as 5 apples, 5 apples as
much as 3 mangoes, 4 mangoes as much as 8
pineapples. If 3 pineapples cost Rs. 36, then an

orange's cost is:/8 HRT T I 5 Tl & IR
%, 5 Tl 6T HIAA 3 3TAT & aIER &, 3R 4 3T
&Y HIHAT 8 HATATEN b R & | IfE 3 rararar

T HIAT 236 &, Al Teh HaX & HIAT T &2

(@) Rs. 9 (b) Rs. 12

(c)Rs. 6 (d) Rs. 15

In a test a candidate attempted only 15 questions
and secured full marks in all of them. If he obtained
60% marks in the test and all the questions in the
test carried equal marks, the number of questions in

the test is:/Teh TLIeTT & Teh 73T ¥ hael 15 UsT
&t fopu 3R Toh # qut 31 ura for | afeg s&
TRV&TT 3 60% 37eh UTE §U IR Tt Gt o 37eh

AT &, A greT F gt Hr FEAT fhde &2
(a) 20 (b) 25
(c) 27 (d) 30

The mean age of combined group of men and
women is 25 years. If the mean age of group of
men is 26 and that of group of women is 21, then
percentage of men and women in the group

respectively is:/qeuT 3R AT & T HIHE
<Y 3T 31 25 a9 ¥ | AT qout & Hafg
I 31g 26 a§ 3R ATGT31T & FHg ol 3irad
g 21 v §, A GHg # gout AR Al @
TTIRId haTel: fohcTaTr 2

(a) 60, 40 (b) 80, 20

(c) 30,70 (d) 50, 50

Ms Rashmi drove at the speed of 45 km/hr from
home to a resort. Returning over the same route she

got stuck in traffic and took an hour longer, also
she could drive only at the speed of 40 km/hr. How

many kilometers did she drive each Way?/géﬁ IR
TR ¥ T RAiC de 45 foprafl/eer Hr aifa & amdy
eIl &l A | 38 TEd A e a7 ag ¢fthes A
%y 918 3R 3% Teh TeT SATET 9T 3737, TTY &
ae hael 40 fepatt/ger & aifa & & andr Ten
el AT | Segied Tedeh & A fohdal fohellaiey
T TS

(@) 250 (b) 300

(c) 310 (d) 360

34. If the ratio of the sum and difference of two
numbers be 17 : 13, which one of the following is

the ratio of the numbers?/afe gI T&AT3T & IN9T
3R AR T AU 17:13 8, O A=faf@a A &
it Y TEAT T IFUT &2
(a) 12:5 (b) 15:2
(c) 9:8 (d) 2:15

Next Two (02) Items are based on the following Table:

Installed capacity and production of vehicles over the
years

oo auf 3 areal T T &7aar 3R Scurea

i : Installed Capacity - Production

" 2008 2006 | 2007 2005 2006 2007
Tempos 700 790 895 412 518 586
Cars 475 544 580 366 336 303
Jeeps 140 140 140 105 120 133
Motor-bikes 775 775 800 680 700 799
Scooters 1500 1500 2000 1004 | 1500 1205
Autorickshaws 290 300 320 184 194 151

. - . ducti
Capacity utilization = —F———""__
installed capacity

&THAT 3TN = ScUTG/(FATTUT &THT)

35.  Which one among the following categories has not
experienced growth in installed capacity over the

period of 2005 to 2007?/fAFfaiad & & fopg

Aofl A 2005 |/ 2007 &Y AT H TATTAT &TH AT H
qig el g5 ©?
(a) Cars (b) Motor-bikes
(c) Jeeps (d) Autorickshaws
36.  Which of the following statements is/are correct?/

fAFafaf@d # @ Bl a8 HUT T8 /22

1. All categories of automobiles experienced a
growth in production between 2006 and 2007./ .

2006 31 2007 & S T AT & AT
& SeUlee & i g5 |

2. In 2007 the capacity utilization of Jeeps was
higher than that of Motor-bikes./ 2007 3 SfraT &r

&THCT SUTNIT AICT-ATSeh bl JoleTl 3 31TAH 2|
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3. Cars, Scooters and Autorickshaws experienced a
decline in production from 2006 to 2007./ 2006 &

2007 eh PRI, FHet 3R JHTCIRERAT & Scured H

fIRree 3mg |

Select the correct answer using the code given
below:

(@ land2 (b) 2 only

(c) 3only (d)2and 3

Directions: Next five (05) items are based on the
information given below:

In a class of 84 students, boys and girls are in the ratio of
57. Among the girls 7 can speak Hindi and English. 50
per cent of the total students can speak only Hindi. The
ratio of the number of students speaking only Hindi to
that speaking only English is 21 16. The ratio of the
number of boys speaking English only to that of girls

speaking English only is 3:5./84 faanf2at &fr v et
5% 3R iRt o1 31equra 57 | asforat F 4 7 RSy
3R 375N el Fehell €| ot Taanfdit 3 & 50 gfaera
hadl RET diel Tohdl & | hadl TeaT dietel arel faanfdat
&Y TEAT T hdol 373N el dTel TaaTfd 6r e &
HUTA 21 16 ¥ | el AT dletal aret SISl Y T&AT
T chdol 3{IUSH dleTel daTell STSThdl Pl T&IT T 3JUTd

358l
37.  What is the number of boys who speak both the
languages?/gIT HTUTT aelel dTel ISehl el T&T

foharely &2
(@) 3 (b) 5
(c)4 (d) 2

38.  What is the number of girls who speak English
only?/dhael sl diclel dToll oI5 fhal thl &I

foharely &2
(a) 10 (b) 12
() 20 (d) 22

39.  What is the ratio of number of boys who speak
Hindi only to that of girls who speak Hindi only?

haol Tec! dieled dTel STSeh chl LT BT hd ol Teal
dieTel arell S feha &Y T&aT | 37eurd T B2

(a) 10:11 (b) 11:10
(c) 2.5 (d) 3:5
40.  How many girls can speak Hindi?/ferdelt ersferar
IEAEIGEERIEY
(8) 22 (b) 23
(©) 27 (d) 29

41.  What is the ratio of the number of boys who speak
English to that of girls who do so?/373ISiY et

TSRl &Y TEAT BT HUT FIT &7

(@59 (b) 5:8

(c) 3:5 (d) 9:5
Directions: The following two (2) items are based on the
given pie-chart which shows the annual agricultural yield

of a certain place:/ fA&afaf@d a (2) usr few amv urs-
e W 3R § 3 v AT T f aifties piy
3UST I GATAT &

Sugarcane

80°

Wheat
60°

42.  Theyield of rice is how much percent more than
that of sugarcane?/Terel & SUST et & Jolcll H

fopaeY ufaera 3119 &2
(a) 40% (b) 50%
(c) 60% (d) 75%

43.  If the yield of rice and wheat is 9000 tons, then the
yield of excess product of others in comparison

with sugarcane is:/afg arerel 3R 31 T 3T 9000
< &, dl 3Tt & Jolell A 31 & HTARD 3culg

&1 30T &
(a) 1000 tons (b) 2000 tons
(c) 3000 tons (d) 4000 tons

44. A and B take part in 100 meters race, where A
beats B by 10 meters. To favour B, A starts 10
meters behind the starting line in a second 100
meters race, running at their earlier speeds. Which
one among the following is true in view of the

second race?/A 3 B, 100 #Hex &1 cls & wrar o
€ STl A, BR 10 HeT 3MA I BH UeT &, A,
gl 100 HIeT &1 gls # Y3 1@1 § 10 FAeX
oS & 30 Uge H 1S F glzar I aRar |
gadr als & Hedt & Meafaf@a A a dla &
HYA T &2

(@) A and B reach the finishing line simultaneously
(b) B beats A by 1 meter
(c) B beats A by 2 meters
(d) A beats B by 1 meter

45.  The cost of gold varies directly as the cube of its
weight. A gold piece weighing 20 decigram costs
21,000. If it is broken into two pieces whose
weights are in the ratio 2: 3, then what is the profit

or loss incurred?/&Tet &Y AT 3h HR &b T &
HAR dGercdt & &1 20 SHIATH Faied aret |l
o Ueh gehs & hIA 31,000 &1 AT 58 2:3 %
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46.

47.

48.

49.

UTd ATl &1 gensl # ars feam S, & emer ar 50.

erfer oF grefr?

(a) 3280 profit (b) 280 loss

(c) %720 profit (d) X720 loss

A sum triples in ten years under compound interest
at a certain rate of interest, the interest is being
compounded annually. In how many years, it

would become nine times?/Te AT ST g7 W
AhTg STTST oh A9 Teh YA G aut H e
T[T & ST &, ST aTfves &9 & FAfoId aidT &

fepcreY areif & e =t I & st 5L
(@) 20 years (b) 30 years
(c) 40 years (d) 50 years

The average age of the boys in a class is 12 years.
The average age of the girls in the class is 11 years.
There are 50%. more girls than boys in the class.
Which one of the following is the average age of

the class (in years)?/Teh HelT H oI5l T 3ad
3G 12 9§ & | et # wIsfhat dr 3iad 3my 11
ay & | oaT & STzt Y JereT 3 eTs iRt & T
50% 31f & | FAeafaf@d 3 & wamm & 3iad
3 (aut &) i @ 2

(@) 11.2 years (b) 11.4 years

(c) 11.6 years (d) 11.8 years

A wire of length 6 m is stretched such that its

radius is reduced by 20%. Which one of the
following is the value of increase in its length?/6

Hrex JId Th dR &l 38 YR Wi ST & b

3P AT 20% FH & Sl 6| Aeafaf@a #E 53

DT T AT SHDT TS H TG DT AT £2

(a) 50% (b) 56.25%

(c) 62.25% (d) 75%

In the given figure, there are three semi circles
ABC, AEF and CDF. The distance between A and
C is 28 units and F is the mid-point of AC. What is

the total area of the three semi circles?/&Y 31

3mepfa &, et 31 ABC, AEF 3R CDF &1 A >4
31K C & drer &1 gt 28 3915 B 3R F, AC T
HE-fg & | At et &7 et AT el ettt &2
Y
A
£ ) 6.

(a) 924 square units
(b) 824 square units
(c) 624 square units
(d) 462 square units

52.

What is the approximate area of the shaded region
in the figure given?/&T 3T 3TTpfal & BTTfeha &1
T 3TFHATTAT STl T &2

(@) 15.3 cm? (b) 25.5 cm?

(c) 28.4 cm? (d) 30.5 cm?

What is the area of the shaded region in the given
figure, if the radius of each of the circles is 2

cm?/&Y 1S TRTA F STIfRd 81T BT & Athel T
%, Ife U ga & Fear 2 T 2

(a) 43 - 21 cm? (b) V3 - T cm?

(©) V3 —Zcm? (d) 2 7 - 2v/3 cm?
What is the area of the largest square plate cut from
a circular disk of radius one unit?/Te 1S AT

arell JaThR f3Eh @ HICT TS HIH T3] IINBR
Tl T &1 &1t T 72

(a) 4 square units (b) 2+/2 square units

(¢) m square units (d) 2 square units

If o, P are the roots of the equation 2x2 —

2(1 +n?)x + (1 + n? + n*) = 0 then what is the

value of a? + B22/31¢ o, p FHTAIOT 2x2 —

20 +n)x+ (A +n2+nH) = 0F FAE A

a? + B2 & AT FIT &2

(a) 2n? (b) 2n*

(c)2 (d) n?

The roots of Ax? + Bx + C = 0 are r and s. For the
roots of x? + px + g = 0 to be r% and s2, what

must be the value of p?/Ax? + Bx + C = 0 & &
r3aRsElx2+px+q=0F HAr? 3R s2 A
& forg, p &1 AT T BT ATRT?

(a) (B? — 4AC)/A?

(b) (B2 — 2AC)/A?

(c) (2AC — B%)/A?

(d)B? - 2C

What is the value of x satisfying the equation

16(C2)° = 22 9716(25)% = 22 FaliehtoT ol

. a—x a+x a
TJE I aTell X &l AT T &2
(@) a/2 (b) /3
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56.

57.

58.

59.

60.

61.

62.

(c)a/4 (0
What is the unit digit in the expression of
(2457)7547/(2457)75* TSIk H SIS 3ich T

&2
(@) 3 (b) 7
(c) 8 (d)9

When (x3 — 2x? + px — q) is divided by (x? —
2x — 3), the remainder is (x — 6). What are the
values of p, q respectively?/aid (x3 — 2x2 + px —

q) B (x2 — 2x — 3) T {7 AT AT &, A AVHeT

(x — 6) UTE BIAT &1 p, q & HTT THaALA: TFIT &2

(@ —2,—6 (b) 2,—6

(c)—2,6 (d) 2,6

If 3* + 27(37%) = 12, then what is the value of x?
Jie 3% 4 27(37%) = 12, AT X BT AT T &2

(a)1 (b) 2

(c)lor2 (doOoorl

The product of two alternate odd integers exceeds
three times the smaller by 12. What is the larger

number?/aT Tehid] TaYH quitehl & IOTAH ST
TEAT & A1 I F 12 31TAh | T8 HEAT AT 82
(a) 3 (b)5

()7 (d)9

Pooja started her job with certain monthly salary
and gets a fixed increment every year. If her salary

was Rs. 4200 after 3 years and Rs. 6800 after 8
years of service, then what are her initial salary and

the annual increment respectively?/Qait T
fafra arfde daa W AlRd g & 3R & A
ueh AT a4 gig urg el ¥ afe 3aut o
d1G 3HET ddel 4200 T0A 3R 8 auf fr Jar & arg
6800 T & ITAT, Y 3HDBT YRR I 3R
aTfep AdeT g ThaAr: AT &2

(a) 2640, 320 (b) 2460, 320

(c) 2460, 520 (d) 2640, 520

A dishonest dealer professes to sell his goods at
cost price, but uses a false weight and thus gains

25%. For a kilogram he uses a weight of: /T

AT SATURT 3UAT AT oI Hod T =it &
STaT AT &, ATl ITeld e &l SEAATS AT &
3R 39 ORE 25% 1 HATAT & | Teh hellarTs &

T ag opdaT d1e STAHAT BT &7

(@) 700 ¢ (b) 750 g

(c) 800 ¢ (d) 850 g

Two persons P and Q start at the same time from
city A for city B, 60 km away. P travels 4 km/hr
slower than Q. Q reaches city B and at once turns
back meeting P, 12 km from city B. What is the

speed of P2/GI a1tk P 31X Q Teh & HHI W AR

63.

64.

65.

66.

67.

68.

AT 60 foraft g 2re B & forw greern X §1 P,
Q & 4 fepafi/erer el 1 @ AT HIAT &1 Q, A
B T¢Il & 3R i d1ud 3T AT B A 12

fopaft X P A fRerar &1 P &Y 91fa Fm &2

(@) 8 km/hr (b) 12 km/hr

(c) 16 km/hr (d) 20 km/hr
What would be the printed price of a watch
purchased at Rs. 380, so that after giving 5%

discount, there is 25% profit?/380 TUY H WG
TS TP TN BT Hicd Hed AT {1, dTfeh 5% T

&eY & d1C 25% oITe BI?
(a) Rs. 400 (b) Rs. 450
(c) Rs. 500 (d) Rs. 600

If a:b = 13:2 and b: c = 2:3 then what is
a: b: c equal to?/Af¢ a: b = 1%:2%3-T\Tb:c =
2:3%<‘-ﬁa:b:cﬁmﬁ~7w%‘?

(@) 12:8:21 (b) 8:21:12

(c) 8:12:21 (c) 21:8:12

A bag contains Rs. 114 in the form of 1 rupee, 50
paisa and 10 paisa coins in the ratio 3:4:10. What is

the number of 50 paisa coins?/Tes &1 # 1 FTAT, 50
9 3R 10 4 & Fyerept & FU A 114 T E,
TSTeTepT 31T 3:4:10 §1 50 U o Tererept &
T&IT 7 &2

(@) 76 (b) 72

(c) 56 (d) 48

A person invested part of Rs. 45,000 at 4% and the
rest at 6%. If his annual income from both is equal,

then what is the average rate of interest?/Teh cgfth
= 45,000 TT T Teh HTIT 4% W 3R AT 6% TT
faer foram| afe et & sadht a1filies 3ma Fara

&, df <arer Y Aaa e T 2

(a) 4.6% (b) 4.8%

(c) 5.0% (d) 5.2%

10% of the inhabitants of a certain city left that
city. Later on, 10% of the remaining inhabitants of
that city again left the city. What is the remaining

percentage of population of that city?/fer&Y Qe &
10% fare 38 AR Bl BISH ol 7| d1G A,
38 U &b AW 10% faredt R & e siza Tt

IT| 3 A AT AV FATEAT Pl UfAAd T &2
(a) 80% (b) 80.4%

(c) 80.6% (d) 81%

If the radius of the base and the height of a right
circular cone are increased by 20%, then what is

the approximate percentage increase in volume/Jf¢

Teh o et A & YR &l AT 3R F=rs
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69.

70.

71.

72.

73.

74.

20% e Fig T ST, AT 3T H SATHIT Tehelel
gfaerd &#r gig gref?

(a) 60 (b) 68

(c)73 (d) 75

A person rides a bicycle round a circular path of
radius 50 m. The radius of the wheel of the bicycle

is 50 cm. The cycle comes to the starting point for
the first time in 1 hour. What is the number of

revolutions of the wheel in 15 minutes?/Te eI fh
50 #HIeX IS dTel Ueh JATehR UY TR AT fehel
TATAT & | Irsfeper &b ufed & Bear 50 a1
ASTehel Ugell IR 1 8¢ H GRTN feig W agech
g1 15 face & ufRy & gara] &Y =T FAT 2
(@) 20 (b) 25

(c) 30 (d) 35

If cotd = % then what is the value of

1—-cosO . ..
,where 0 is a positive acute angle?
1+cosO

gfe coth = 18—5%, ar e

1+cos
Teh YATHD g DIUT &2

(a) 1/5 (b) 2/5
(c) 3/5 (d) 4/5

75.

ZWWW%,E%"TG

If 0 < x < 45°and 45° < x < 90°, then which 76.

one of the following is correct?/afe 0<x<45° 3k
45°<x<90°, df fAFafaif@d & & sl a1 Ter 2

(@) sinx = siny (b) sinx < siny
(c) sinx > siny (d) sinx < siny

Consider the following:/fAeafarf@d ox faar i

cos?0-sin%0
1. =

- - - - 2 _
osoromzs = C0s°0(1 + tand)(1 — tand).
2.

1+sinf _ 2
i = (tanf + secB)“.

Which of the statements given above is/are
correct?/3Udh H { Pl AV U TE ©/8?
(@) Lonly (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2
The value of cosec?8 — 2 + sin?8 is always:

cosec?0 — 2 + sin?0 & AT g oIdT &
(a) Less than zero /[T & 8T A
(b) Non-negative/ 3T FThRIcHD

(c) Zero/ [

d1

What can be said about the expansion of 212" +
6%™, where n is a positive integer?/212" + 6" &

faeaR & TR 3 a7 Pl ST TP &, STel n Th 79.

UeATcHD YUITeh 2
(a) Last digit is 4
(b) Last digit is 8
(c) Last digit is 2

(d) Last two digits are zero
Consider the following assumption and two

statements:/ fAFafaf@a aron 3R g F=AT
AR &

Assumption: A number 'ABCDE" is divisible by
11./ 9ROT: Teh ¥&a1 'ABCDE' 11 @ AT ¥l
Statement-1: E — D + C — B + A is divisible by
11/ ®¥9-: E—D+C—B+ A, 11 §RAT R
StatementIl: E — D + C — B + A = 0/
HYAI.E — D +C —-—B+A=0

Which one of the following is correct?/
faraferi@a # & ol a1 v &2

(a) Only statement -1 can be drawn from the
assumption/ &ad HAA-1 & qIUROT ¥ fAewrer S

T &

(b) Only statement-I1 can be drawn from the
assumption/ dad HAA-11 & QIUROT § Aehrer S
HehdT &

(c) Both the statements can be drawn from the
assumption/ ait YT GIUROT & fAehTer ST Thel ©
(d) Neither of the statements can be drawn from the
assumption/ Gt # ¥ Blg HY HAT QIR & el
fAepTeI ST HehelT &

The remainder on dividing given integers a and b
by 7 are respectively 5 and 4. What is the

remainder when ab is divided by 7?/f¢T 1T qUiTehi
a 3R b oY 7 & AT ¥ TR AWl haA: 5 3K 4

€1 ab PV 7 F AT & TR AWl FIT G

()3 (b) 4

()5 (d) 6

The three sides of a triangle are 10, 100 and x.
Which one of the following is correct?/Teh 33T

&Y ftet 9T 10, 100 3R x ¥ eafaf@a d @

i AT HE &2

(@) 10 <x <100 (b) 90 <x <110
()90<x<110 (d)90<x<110

1/48 of a work is completed in half a day by 5
persons. Then, 1/40 of the work can be completed

by 6 persons in how many days?/feFgT &I T 1/48
19T 5 cafehal gRT 39 T A Q@ foham ST B
ar, Y HT 1/40 H19T 6 ST Tehal gRT fohdal feat o

Q1 FoRT ST el &2
(@) 1 (b) 2
(©) 3 (d) ¥

The speed of a boat in still water is 11 km/h. It can
go 12 km upstream and return downstream to the
engine point in 2 hours 45 minutes. What is the

speed of stream?/fE2R Tt H Teh A1 Y a1fd 11
fpafi/ger ¥ 1 I8 4T & ufdger 12 fhat Tereht arT &
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80.

81.

82.

83.

84.

3Rl Foiel foig WX 2 &¢ 45 [eTe & arad 31 Fepcl! 85.

& | YRT T I AT &2
(a) 5 km/h (b) 4 km/h
(c) 3 km/h (d) 2 km/h

If0 <0 <m/2 and cos 0 + /3 sin 0 = 2, then what is
the value of 02/3T& 0 < 0 < /2 AAT cos 6 + V3 sin
6=27%, dl 0 AT FIT &7

(a) n/3 (b) /4

(c) /6 (d) 72

If 6 men and 8 boys can do a piece of work in 10

days while 26 men and 48 boys can do the same in
2 days, what is the time taken by 15 men and 20

boys in doing the same type of work?/afe& 6 3eaT
3R 8 T fopdl 1 & 10 e #H X Fohct &
STafe 26 3MEaT 3R 48 T3 3T FHIHA &1 2 e A

TP &, dl 15 e 3R 20 e s A e 87

I H =T AT @
(a) 4 days (b) 5 days
(c) 6 days (d) 7 days

If 50% of (x - y) = 40% of (x + y) then what per
cent of x is y?/af& (x - y) &T 50% =
Ty, x o forca ufaerd &2

(a) 105 % (b) 115%
(c) 13:%
Suppose the angle of elevation of the top of a tree
at a point E due east of the tree is 60° and that at a

point F due west of the tree is 30° If the distance
between the points E and F is 160 feet, then what is

the height of the tree?/#T SifoiT foh U8 & & g
# U fdig E W Teh Us o MY &1 seeiarel i
60° & 31K U3 & Sreh a3 e foig F X
ST g 10T 30° & | IS g E 3R F o6 fra dr gt
160 IC &, dT Ug &1 SATS T §7

(a) 40v/3 feet (b) 60 feet %0
©) j—g feet (d) 23 feet '

A person travelled by train for 1 hour at a speed of
50 kmph. He then travelled by a taxi for 30 minutes
at a speed of 32 kmph to complete his journey.
What is the average speed at which he travelled

during the journey?/Teh cafh 50 fpaft ufd ae T 91,

Ifa ¥ 1 g b TS @ AT hLaT & | Y a8
AT AT G A & forw 32 fepatt ufa g fr
71fa & 30 e d S I AAT & AT H

eI 3T 3 Tfd a2
(@) 44 kmph (b) 42 kmph
(c) 41 kmph (d) 33 kmph

86.

(X +y)BT40%  88.

1
“ag 89.

92.

If the expressions px3 + 3x% — 3 and 2x3 — 5x +
p, when divided by x — 4 leave the same

remainder, then what is the value of p?/lTﬁ:\’ TSk
px3 +3x2 —33R2x3—Sx+pdx — 49
frnfad e IR AT AW =T &, Al p &l AT

FT 8?2
(a) -1 (b) 1
(c) -2 (d) 2

2 3 9 4 9 21
If=+==—and-+-=—where x # 0 and
X y xy x 'y Xy

y # 0, then what is the value of x + y?/afe

2 %%m%%:%aﬁwosﬂwﬁoﬁ,a’r
X + y T AT T 2

(a) 2 (b)3

(c) 4 (d)8

The equation whose roots are twice the roots of the
equation x% — 2x + 4 = 0 is:/dg GHHIOT g
Al HHIDBIOT x2 — 2x + 4 = 0 & Hell &b N[ &
(@x>—2x+4=0 (b)yx?—2x+16=0
(c)x2—4x+8=0 (d)x?—4x+16=0
fx—=-== then what is 9x? + i ~ equal to?
x—1=—‘sL arox? + = WW%?

(@) 18 (b) 19

(c) 20 (d) 21

A telegraph post gets broken at a point against a

storm and its top touches the ground at a distance
20 m from the base of the post making an angle 30°

with the ground. What is the height of the post?/Tdh
&I <l WHT Tl o BRUT Teh fiig W e
ST ¥ 31X 38T MY TN & 3TUR F 20 HreT Hr
o8l U STHTA ol Bl & 3R ST o |1 30° T
PIOT JATT & | TH T TS 77 &2

(a) Zm (b) 20v3 m
(c) 40v/3 m (d)30m

The number 2784936 is divisible by which one of
the following numbers?/T&aT 2784936

faFafafla # @ e g & a2

(a) 86 (b) 87

(c) 88 (d) 89

If tan A = 25222 then what i is - equal to?
g tan A = g COSB % ar 122:;:4 ﬁmﬁsw
LY

(@) (tan B)/2 (b) 2tan B

(c)tan B (d)4tan B

What is the HCF of (x* — x? — 6) and (x* —
4x2 4 3)2(x* — x2 — 6) 3R (x* — 4x2% + 3) @I
AT, FITE?
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93.

94.

95.

96.

97.

98.

99.

(@) x2-3 (b)x+2

(c)x+3 (d)x2+3

What is the HCF of 3.0, 1.2 and 0.067?

3.0, 1.2 3i 0.06 ST HCF &T &2

(@) 0.6 (b) 0.06

(c) 6.0 (d) 6.06

If sin 30 = cos (6 — 2°) where 30 and (8 — 2°) are
acute angles, what is the value of 02/41¢ sin 30 =

cos (0-2°) TRl 36 3R (0-2°) =T PIUT &, AT 6 T

HIT T 2
(a) 22° (b) 23°
(c) 24° (d) 25°

Consider the following:/faefarfad X AR &1
1. tan?@ — sin?6 = tan?0 sin?0

2. (cosecB — sin@) (sech — cos@) (tanb +
cotf)=1.

Which of the above is/are correct?

(@) 1 only is the identity

(b) 2 only is the identity

(c) Both 1 and 2 are the identities

(d) Neither 1 nor 2 is the identity

Simplify the following:/ AT @d & T
HifoT[(1-1/2)(1-1/3)(1 —1/4) ....(1 -

1/100)]795
(a) 1/100 (b) 1/10
(c) 100 (d) 10

In a circle with centre O, an arc ABC subtends an
angle of 134° at the centre of the circle. The chord
AB is produced to a point P. £CBP is equal to:

&g O dTel Teh g H, Teh I1d ABC g o chg IR
134° T IO AR YT & Siar AB oY Teh felg

P &k IGTIT IAT & | CBP RTeR &:

(a) 45° (b) 67°

(c) 89° (d) 113°

The ratio of the length of the parallel sides of a
trapezium is 3: 2. The shortest distance between
them is 15 cm. If the area of the trapezium is 1350
sg. cm, then find the difference of the lengths of the

parallel sides./Teh HHTFT TSI T A
HSTT3HT Y FaTS T U 3:2 & | SeAeh i<y &Y
=geAcTa gt 15 Qalt &1 fe; Farered Tafst o
&YTthel 1350 91 QAT &, Y FATC I3 T oS
T 3R <A1 It |

(2) 95 cm (b) 21 cm

(c) 36 cm (d) 65 cm

Ramu had to select a list of numbers between 1 and
1000 (including both), which are divisible by both

2 and 7. How many such numbers are there?/ITd

P 1 T 1000 (ST Tfed) & frar F&a13it T e

100.

Tt geett Y, S 2 3R 7 2t & fasrew g ol

: S
(a) 142 (b) 71
(c) 97 (d) 642

Find the value of k in the number 3426k if the
number is divisible by 6 NOT divisible by 5./&&ar

3426k & k &1 AT 11 hifSv afe a6 @

s & aifhar 5 @ RssT & &1
(a) 4 (b) 6
(©) 9 (d) 3
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De"éncemurum

CDS 2 2025 MATHEMATICS SAMPLE QUESITON PAPER

ANSWER SHEET
1. C 21. D 41. A 61. C 81. A
2. B 22. B 42. B 62. A 82. B
2 C 23. C 43. A 63. C 83. A
4. B 24, B 44. D 64. C 84. A
= C 25. B 45. D 65. A 85. B
6. B 26. B 46. A 66. C 86. C
7. A 217. C 47. B 67. D 87. D
8. A 28. B 48. B 68. C 88. B
9. C 29. C 49. D 69. B 89. B
10. B 30. A 50. D 70. C 90. C
11. D 31. B 51. A 71. B 91. C
12. A 32. D 52. D 72. C 92. A
1.3. B 33. D 53. D 13: B 93. B
14. C 34. B 54. C 74. C 94. A
15. C 35. C 55. B 75. A 95. C
16. C 36. C 56. D 76. D 96. D
17. D 37. A 57. C 77. B 97. B
18. D 38. C 58. C 78. D 98. C
19. B 39. A 59. C 79. A 99. B
20. A 40. D 60. D 80. A 100. B
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